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il = mAE#EE (kg) BHRES

[10t)

27 8,700 REA 131 1 33
7 9,500 RRE 130 7= 63
o7 9,900 REA 130 49
7 9,500 GERE 130 17
T 9,500 TR 131 55
o7 9,300 i 100 X 333
7 9,300 Ui 100 [ 555
T 9,400 TR 130 z 1155
2 9,400 i 101 ) 8
7 9,000 A 130 S 206
7 9,500 ZE 100 =8 1909
27 8,800 S 100 %S 1479
7 10,000 ZE 131 ke 6
7 8,800 % E 100 =8 1437
27 9,500 S 100 %S 1487
7 9,500 %L 100 (s 1488
T 9,200 %L 100 [ 1491
[12t]

7 10,900 TR 130 El 47
T 12,000 Gt 101 [0 111
27 12,000 LY 101 iea 888
T 11,200 TR 130 D 1173
T 11,000 HEE 130 X 48
27 11,200 LY 130 & 1149
7 11,100 TR 130 D 44
27 11,200 =0 130 7= 1091
7 11,300 Ui 130 El 3388
7 10,700 TR 130 El 1129
27 11,100 TR 130 El 829
7 11,500 Uit 130 e 729
T 11,300 TR 130 7= 29
27 11,400 GEL 130 ¥ 929
7 11,200 GERE 130 S 1029
T 10,400 REA 130 5 444
27 10,400 REA 130 H 999
7 10,800 NEF 130 El 307
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it} = mAE#EE (kg) FRES
LT 11,000 NEF 130 1= 317
LT 14,000 izt 100 % 333
LT 11,000 NEF 130 H 14
LT 12,200 st 130 t 41
L7 10,800 izt 130 El 629
L 11,100 A1 130 % 129
LT 11,400 a1 130 1= 1515
[15t]
LT 13,700 A1 130 El 1119
[TR]
hSo % 36,550 LD 131 » 117
LT EIbL—3 24,100 D 130 Z 118
bS5 % 37,760 BN 130 > 300
Ly TEIbL—3 26,500 EED 130 T 300
rS % 37,610 D 130 I 800
Ly TEIbL—3 25,900 S 130 ) 800
bS5 % 36,810 N 130 & 500
LT EIbL—3 26,500 D 130 AN 500
bS5 % 38,260 st 101 1= 888
LT EIbL—5 21,100 S 101 b 888
b5 % 38,480 NEF 100 A 222
BT eIbL—5 21,100 NEF 100 222
rS % 37,620 NEF 100 % 1111
Ly TEIbL—3 22,500 NEF 100 D) 1111
bS5 % 32,660 NEF 100 fa 5555
LT EIbL—3 22,500 NEF 100 A 5555
rSo % 32,090 B 130 T 118
BT EIbL—5 14,700 BER 130 t 56
b5 % 32,700 D 130 ) 6
Ly TEIbL—3 14,800 D 130 % 41
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[EEGEMkA=1t] 3/3 FEAZRG : BRR. FE
il X mAEHE (kg) BHRES
(7—4-Fv7)
12tERET7—LO—)L 10,600 Gl 101 W 7
12tERET—LA—)L 10,400 Gl 130 ) 21
12tEFET —LA—L 10,900 NEF 130 acs 81
15687 H Y 10,400 NEF 130 & 9
12tERET7—LA—L 10,400 s 130 ES 23
IGtERET —LRA—IL 11,200 NEF 130 & 25
15687 # Y 10,600 G 130 & 700
1I56ET7H Y 10,500 NEF 101 H 777
12tERET —LA—IL 10,800 NEF 130 T 444
12tEET7—LO—IL 11,100 NEF 130 F 999
[EEERAA]
10tFL > 7 9,500 NEF 130 El 327
12tFR 7 11,600 L3y 100 %S 1293
12tFL VT 11,400 Li5Y 100 FS 2204
12t FE V7 10,000 NEF 130 5 508
10t &> 7 9,000 G 130 ER 3588
10t F& > 7 9,100 iz 130 1= 1110
12t FE V7 10,700 NEF 130 acs 51
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(ERRatEROMEE] 1/2 BFEAZRG . RR. FE
it} = sAEHE (kg) BiRES
106RE > 7 9300 BER 130 x 296
10t 2> 7 9500 BER 130 1= 63
106RE > 7 8100 RER 130 t 914
106RE >~ 7 8700 BER 131 e 33
106RK > 7 9000 BER 130 & 206
126X 7 9200 RER 130 t 75
12t PR 9800 R 130 & 17
12t P87 10900 BER 100 (0} 555
126RE 7 10100 RER 100 S 111
12tRZ 7 10600 BER 130 » 123
12tRZ 7 10200 RER 130 El 223
268K 7 10100 R 130 t 323
12tFR 7 10400 BER 130 H 999
12tF& > 7 10400 BER 130 b 444
126RE 7 10100 RER 130 B3 73
12tRZ 7 11100 BER 130 3 666
126REZ 7 10200 RER 130 e 39
12tF& 7 10600 R 101 £l 888
12t P87 10800 RER 130 %z 53
12tRE 7 9900 A 130 Sy 49
156RE > 7 12400 BER 130 % 1133
e 4 11200 BER 132 H 25
b5 52— (80) BER 131 E3 6666
£IbL—5—() 29600 D 130 t 6666
b5 22— (8h) BER 102 e) 8
2IbL—5—(%) 21100 BEB 130 » 88
b5 5% —(&h) R 100 8 7
LIbL—5— (%) 20300 RED 130 S 77
b5 52— (80) D 130 ) 6
2IbL—5—() 14500 BER 130 z 41
b2 % —(50) BEA 102 H 7777
2IbL—5—(%) 26300 RER 101 % 7777
b5 o % —(&l) BER 102 < 5555
£IbL—5—(18) 29600 REA 102 \F 5555
rZ 2% —(50) BER 131 H 117
£IhL—5—(#%) 20800 BER 131 W 117
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(ERRatEROMEE] 2/2 BFEAZRG . BR. FE
it} = sAEHE (kg) BiRES
b5 22— (8h) BER 107 % 1
£IrbL—5—(%) 20600 A 108 H 1
b2 % — () BER 102 Z 7777
2IbL—5—(1) 28800 BER 102 7a) 7777
b7 % —(50) BEA 111 ¥ 1
2IbL—5—(%) 25800 REA 111 hd 1
b7 2% —(80) REA 130 & 3390
2IbL—5— () 26800 ES 130 Kl 3396
b5 52— (80) REA 131 < 100
2IbL—5— () 26500 BER 131 & 100
b2 % —(50) BEA 130 < 119
2IbL—5—(%) 24100 BEA 130 Z 118
b2 54— (gI) BEA 130 e 300
2IbL—5— () 26500 RER 130 < 300
b5 52— (80) A 130 B3 800
£IhL—5—(%) 25900 BER 130 » 800
b5 52— (80) BER 130 & 500
2IbL—5—(%) 26500 D 130 # 500
b5 o % —(&h) BER 131 H 65
£IbL—5—(1%) 24800 RER 130 % 65
b5 22— (80) BER 102 » 3
LIbL—5—(%) 20700 BEA 132 & 11
b5 52— (80) RER 130 & 31
£IbL—5—() 20600 D 130 < 31
b5 22— (8h) RER 101 ) 5
2IbL—5—(%) 20700 BER 131 H 55
b2 2% —(F0) REA 130 T 118
2IbL—5—(#) 14800 RER 130 t 56
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(X =%t JRS] BEAZIRE . "R, BFE
Al =X sAEHE (kg) BHRES
T 8,800 %EE 100 (= 1437
T 8,800 % 100 (=S 1479
T 9,200 ZEE 100 (=S 1491
s 10,000 % 131 aex 6
T 9,500 % 100 (=S 1909
T 9,300 ZEE 130 b 101
v 9,300 % 130 VAN 102
2T 9,300 % 130 ® 103
T 9,300 %EE 130 AN 104
T 9,300 % 130 5 105
2T 9,100 %EE 130 (=S 106
T 9,100 %EE 130 5 107
X TERBIVIE 7,500 % 100 (= 1487
X THRAIVIE 7,500 % EE 100 (=S 1488
RUHE 9,000 %EE 830 = 41
Ry HE 9,300 % 830 £l 114
RUUE 11,200 % EE 830 hes 1114
KU HE 11,200 %EE 830 5 1117
7—LB—ILE 3,900 % 130 aea 1455




